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import sys
sys.path.append("statlib")
from multi import cancor

cancor(x, grl, gr2, verbose=True)
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import pandas as pd

x = pd.DataFrame ({

"a": [2, 1, 0, -1, -27,
"b": [1, 2, 0, -2, -117,
"c": [2, -1, 0, -2, 17,
"da": [2, -1, O, 1, -211)

import sys
sys.path.append("statlib")
from multi import cancor

["a",

a = cancor(x, "b"],

["c",

"d"1)

Canonical score of Group 1
Axis-1 Axis-2
0 -1.264911 -0.632456

1 0.632456 -1.264911

2 0.000000
3 -0.632456
4 1.264911

.000000

1.264911

.632456

Canonical score of Group 2

Axis-1 Axis-2
0 1.264911e+00 -1.144155
1 -6.324555e-01 0.572078
2 -4.440892e-17 0.000000
3 6.324555e-01 1.334848

4 -1.264911e+00 -0.762770
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import numpy as np

print ("canonical_correlation_coefficients")

np.around(Cal["ccc"], 7)

canonical_correlation_coefficients

array([1. , 0.3015113])
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print ("standardized coefficients")
np.around(a["stdcoef"][0], 7)

standardized coefficients

array([[-1.6666667, -0. 1,
[ 1.3333333, -1. 1D

np.around(a["stdcoef"][1], 7)

array([[-0. , -1.0050378],
[ 1. , 0.1005038]11)

I

print ("coefficients")
np.around(a["coef"][0], 7)

coefficients

array([[-1.0540926, -0. 1,
[ 0.843274 , -0.6324555]11)

np.around(a["coef"][1], 7)

array([[-0. , -0.6356417],
[ 0.6324555, 0.06356421])

print ("canonical scores")
np.around(al["cs"1[0], 7)

canonical scores

array([[-1.2649111, -0.6324555],
[ 0.6324555, -1.2649111],
[ 0. , 0. 1,
[-0.6324555, 1.2649111],
[ 1.2649111, 0.6324555]1)

np.around(al["cs"][1], 7)

array([[ 1.2649111, -1.1441551],
[-0.6324555, 0.5720776],
[-0. , 0. 1,
[ 0.6324555, 1.3348476],
[-1.2649111, -0.7627701]1)
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x = pd.DataFrame ({
"a": [2, 1, 6, -1, -2, 3],
"b": [1, 2, 60, -2, -1, 4],
"c": [2, -1, O, -2, 1, 2],
"d": [2, -1, &, 1, -2, 4],
"e": [3, -3, 2, 3, -1, 111
a = cancor(x, ["a", "b"], ["c", "d", "e"I)

Canonical score of Group 1
Axis-1 Axis-2
0.262552 1.446307
-0.767001 -0.423280
.300900 -0.070565
1.368802 0.282150
0.339249 -1.587437
-1.504502 0.352825
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Canonical score of Group 2
Axis-1 Axis-2
0.120758 0.756109
-0.758523 -1.191970
.816415 0.017124
1.189761 0.627642
0.149976 -1.242753
-1.518388 1.033849
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print ("canonical correlation coefficients")
np.around(a["ccc"], 7)

canonical correlation coefficients

array([0.9645994, 0.8223086])
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print ("standardized coefficients")

standardized coefficients

np.around(a["stdcoef"][0], 7)

array([[ 0.6181246, 2.1118284],
[-1.5103402, -1.6002405]11)



np.around(a["stdcoef"][1], 7)

array([[-0.2762663, -0.0804173],
[-0.8474466, 0.7030491],
[ 1.026069 , 0.448046911)
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print ("coefficients")
np.around(a["coef"][0], 7)

coefficients

array([[ 0.3304015, 1.1288198],
[-0.6991516, -0.740767411)

np.around(a["coef"][1], 7)

array([[-0.1691778, -0.0492453],
[-0.3922915, ©0.3254485],
[ 0.4272815, ©0.1865783]11)
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print ("canonical scores")
np.around(a["cs"]1[0], 7)

canonical scores

array([[ 0.2625517, 1.4463072],
[-0.7670014, -0.42328 1,
[ 0.3009003, -0.0705649],
[ 1.3688021, 0.2821502],
[ 0.3392489, -1.587437 1,
[-1.5045017, 0.35282461])

np.aroundCal["cs"]1[1], 7)

array([[ 0.1207582, 0.7561087],
[-0.7585229, -1.1919704],
[ 0.8164154, 0.0171241],
[ 1.1897611, 0.6276416],
[ 0.149976 , -1.242753 1,
[-1.5183879, 1.033849111)



